(1) @) 480+30 = 5710 b) 670+50
330 +80 = 4 10 290 + 70
750 +90 = 8 4 O 390 + 90
570 +70 = 6 4 0 680 + 40

(2] a) 340 -60 =
710-40 = 6 7 0
960 -80 = 8§ 8 0
840 -50 = 7 9 0

(3] Rechne und férbe passend.
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360
480
20

280 b)220-90=130

840-70= 7 7 0
430-60 = 3 7 0
510-90 = 4 2 0
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550
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c) 560+ 50 =610
790 +20=810
6 8 0 +50=730
450+ 8 0 =530

c) 730-
310
540 -
630

490

60

20

50 =680
-20=290
6 0 =480
- 40 =590

—
50 80

360 410
480 510
640 680
720 720
790 840

1
50 60

130 280
310 370
420 630
670 770

790 880

_

990 | 30

950 | 70 950 | 90
940 | 80 990 | 50
970 | 50 970 | 70
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1 bis 3: Addieren und Subtrahieren  4: Rechenmauern l6sen 5 und 6: Ergdnzen
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